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Marginal Costing
Answer the questions in A4 paper and submit on 4.10.2009

Formulae
1. Contribution  Sales Ratio 
–  a)    Contribution 

----------------
* 100   (C/S ratio in  %age)

        

Sales 

b) Change in Contribution

----------------------------

Change in Sales

c) Change in profit

---------------------------

Change in Sales

2. (a) Break Even Point in units

 Fixed Cost






   ---------------------






          Contribution /unit

   (b) Break Even Point (sales revenue) = 
Fixed Cost







--------------

* Selling price /unit







Contribution / unit








Or







Fixed Cost







----------------

* Total Sales







Total Contribution 








Or







Fixed Cost







---------------







C/S ratio

3) Units to be sold to earn a desired profit  =  Fixed Cost + desired profit







----------------------------------







Contribution /unit

4) Sales for a desired profit 

        = Fixed Cost + desired profit







--------------------------------







C/S Ratio

Refer to Chapter 33 –Pg 255 to Pg 265
Refer to website www.tutor2u.net/business/presentations/accounts/contribution/default.html 
1. Koko & Co produces a single product. Following cost data is given about its product.







$

Selling price per unit



20

Marginal cost per unit



12

Fixed cost per annum


          800

Calculate

a. Contribution Sales Ratio

b. Break Even Sales

c. Sales to earn a profit of  $1000

d. Profit at sales of  $ 6000

e. New break even sales if  sales price is reduced by 10%

2.  The budgeted income statement of Williams gift shop is summarized as follows. 







  $

Net Revenue




800000
Less : expenses including  $ 400000

880000 

of fixed expenses

Net Loss




  80000

The managers believe that an increase of  $ 200000 on advertising outlays will increase sales substantially. 

Required

a. At what sales volume will the store break even after spending $ 200000 on advertising?

b. What sales volume will result in a net profit of $ 40000.

3. Crofthouse Ltd. launched a new product two years ago. The details are as follows:





Year ended 28Feb 1995
Year ended 29Feb 1996

Based on an output of


2 000 units


2 500 units






    $



     $

Unit selling price


  48


            54

Direct material costs per unit

  8



10

Direct labour costs per unit

 12



12

Variable overheads per unit

 15



18

Fixed costs per unit


 10



  9

The management team believe that the cost pattern for 1996 will remain unchanged for the foreseeable future.

The sales manager suggests that if the selling price were dropped to $50 in the year ending 28Feb 1997 sales could increase to 2 750 units.
Required

a. Calculate the break even point in units and in total sales revenue for the years ended 28 Feb 1995 and 29 Feb 1996.

b. Calculate the profit or loss for each of the years ended 28 Feb 1995 and 29 Feb 1996.

c. Advise the management of Crofthouse Ltd whether to pursue the sales manager’s plans for the year ending 28 Feb 1997. Your answer should be supported by reasons and working.

4. Hawkins Ltd expects its cost per unit – assuming a production level of 100 000 per annum – to be






  $

Direct Material 



2.8

Direct Labour




2.4

Factory Indirect expenses : Variable

0.8




         Fixed

0.4

Selling and distribution expenses

0.2

Administration expenses


0.3

Finance




0.1







-----







7.0







-----

Selling price is $ 7.5 per unit.
The following propositions are put to the managing director. Each proposition is to be considered on its own without references to the other propositions. 

a. If the selling price is reduced to $ 7.4 per unit, sales could be raised to 120 000 units per annum instead of the current 100 000 units. Apart from direct materials, direct labour and factory variable expenses there would be no change in costs.

b. If the selling price is put up to $ 7.7 per unit, sales would be 80 000 per annum instead of  100 000. Apart from variable costs there would also be a saving of $ 2000 per annum in finance costs.
c. To satisy a special order, which could not be repeated, 5000 extra units could be sold at $ 6.3 each. This would have no effect on fixed expenses.

d. To satisfy a special order, which would not be repeated, 3000 extra units could be sold for $ 5.9 each. This would have no effect on fixed expenses.

Which of the above propositions should be undertaken , give reasons and show your workings.

5. Reed Ltd. manufactures three products A, B and C. Budgeted costs and selling prices fro the three months ended 30 September 2002 are as follows.





A

B

C

Sales (units per month)

6 000

8 000

5 000






$

$

$

Selling price per unit


45

44

37

Unit costs

Direct labour



6

9

6

Direct materials


20

24

16

Variable overhead


4

3

2

Fixed overhead


5

5

6

Labour costs are $3 per hour and material costs are $4 per kilo for all products. The total fixed costs are of a general factory nature, and are unavoidable.

The company has been advised by its supplier that due to a material shortage, its material requirement for the month of September will be reduced by 15%. No other changes are anticipated.

Required

a. A statement to show the maximum net profit for the three months ending 30 Sep 2002 , taking into account the material shortage for the month of September.

b. Explain how the fixed cost element is dealt with in marginal costing and in absorption costing. Briefly explain how this affects any closing stock valuation.

6. Assume that by coincidence two firms have exactly the same costs and revenue, but that Magellan Ltd uses a marginal costing approach to the valuation of stock in trade in its final accounts, while Frobisher Ltd has an absorption costing approach. Calculate the gross profits for each company for each of their first three years of operating from the following:

a. All fixed factory overhead is $9 000 per annum.

b. Direct Labour costs over each of the three years - $3 per unit.

c. Direct material costs over each of the three years - $5 per unit

d. Variable overheads which vary in direct ratio to production were $5 per unit.

e. Sales are Year 1 – 900 units, Year 2 – 1200 units , Year 3 – 1100 units.

    The selling price remained constant at $29 per unit.

f. Production is at the rate of Year 1 – 1200 units, Year 2 – 1300 units, Year3 – 1250 units.

7. Greatsound Ltd manufactures and sells compact disc players, the cost of which is made up as follows:








$


Direct material



74.80


Direct labour




18.70


Variable overhead



  7.50


Fixed overhead



 30.00








--------


Total cost




131.00








--------

The current selling price is $187.

Greatsound Ltd. works a day shift only, at present producing 120 000 compact disc players per annum, and has no spare capacity.

Market research has shown that there is a demand for an additional 60 000 compact disc players in the forthcoming year. However, these additional sales would have a selling price of $150 each. One way of achieving the extra production required is to work a night shift. However, this would increase fixed costs by $ 2 500 000 and the labour force would have to be piad an extra 20 percent over the day shift rate.

The company supplying the materials to Greatsound Ltd has indicated that it will offer a special discount of 10 per cent on total purchases if the annual purchases of materials increase by 50 per cent.

The selling price and all other costs remain the same.

Assuming that the additional purchases will only be made if the night shift runs, you are required to 

a. Advise Greatsound Ltd whether it should proceed with the proposal to commence the night shift , based on financial consideration.

b. Calculate the minimum increase in sales and production required to justify the night shift.

c. give four other matters which should be taken into consideration when making a decision of this nature.






-----------------------
